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AGRICULTURE (PAPER-II)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH. '

Candidate has to atfempft FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in medium other than the authorized
one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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WUes—A [/ SECTION—A

1. ﬁﬁ%@amﬁﬁﬁu@mwwmm 150 w=di # <Y .

Answer the following questions in about 150 words each : © 10x5=50

() TS F WA AR F IR w ITE I&ew wiga forar @ oo hifs

Elaborate Mendel’s law of ‘independent assortment’ by giving suitable example.

- (b) e FEHHl H AR AlTELON F W gfeniia FR ) wEer gur F g s I S
ST &7

Define ‘pure lines’ along with their characteristics. How are they used in crop
improvement?

(c) =fEE w9 iR 6 saren e SN % g6y 1§ amge dlo 3o 6 adwm fufy = we
£ .
Explain Intellectual Property Rights. Give the present status of IPR in relation
to agriculture.

(d) @@l % e 6 frafaty @ vre fifm) el # 9Rfiem, Seaem o) @ A smatea %
- degun @ 9viF whiferg

Explain the mechanism of absorption of salts. Give potassium, calcium and
iron deficiency symptoms in plants.

(€) EH S I A I R S e siegar a5 B fEe Fife) we d e g e W
AT HT 3@ I |

Discuss sterility systems used in hybrid seed production. Briefly mention
chemically induced male sterility.

2. Fefafad T ¥ W AR

Answer the following questions : 12%x4=50

(@) ‘G TSI gmar S aieia B s sgEiien enuR i Rfeedt (sEteld) wm

el wo o wo % Frufw 1 Rt # www A

Define ‘general combining ability’. Explain the genetic basis and methods for
estimating SCA in diallel mating system.

(b) - IR Q- % AgaEh qiom = 87

What are the genetic consequences of self- and cross-pollination?

(c) TURIE FH 6 Al (g3 sre) gen f R fifm)

Discuss the sui generis protection of traditional knowledge.
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(d) T URY GRS 1 SNV Y BT 27 WSl gR S h SEuNoy %) Ui S arel
faftm s &t = e Ao

How is water absorbed by land plants? Explain various external conditions
affecting water absorption by roots.

- 3. T wE % sw 4w

Answer the following questions : 122x4=50

(w) STETEH [eenisll[dedlor 1 a7 Igw e & g IR
Explain oxidative decarboxylation citing suitable example..

(b) TATH H FHEME fTorl F wERe % gads yEm w5 aofa i) @y @ K e )
G HI|
Give evidences supporting translocation of organic solutes in phloem. Explain
Ringing experiment.

(c) HeRl W R G AR W W AN G AW Fa Fuifa $O FfF derar sigafie € @ Silms?

Given the seed from a male sterile line of corn, how would you determine if the
sterility is genetic or cytoplasmic?

(d) An-gfetie Fedarl % fawm 7 < ffifen o) S siaeen % " B fREm Hifg

Discuss the importance of gene pyramiding and gene introgression in
developing disease-resistant cultivars.

4. FHfafea g & W e
Answer the following questions : 1272x4=50

(@) T, am RS F IeaEdAt F e s A e fifv i B @ el % am i
e IR Seafadt =1 3uEm s WA § 5 e e R

Discuss the practical applications of mutations in wheat, rice and barley.
Name two varieties of wheat released by the use of induced mutations in India.

(b) WEH wverwor 1 frnfafy w fraor S weeafel ot gEwRedl % Wy gl ge
sifs |

Give an account of mechanism of protein synthesis. Compare it with
prokaryotes and eukaryotes.

(c) RG i 3fvenfes 3R e Sfie-gw gonfedt @ fer i)

Explain formal and informal seed supply systems in India.

(d) aOeEsH IR g @ % nen fadg o Al el /el % wwo # we i

Differentiate between transpiration and guttation. Why permanent wilting
takes place?
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3PM IA5 ACADEMY
WUs—B / SECTION—B

5. fefafgs vt & 4 9=@% 1 W @ 150 et # AR

Answer the following questions in about 150 words each : 10%x5=50
(a) HHYE H TR A R FR-E 37 UE 9 wYE %6 3ared § geswar (fafem) #
Tk 3 HEw @ TE Hifm)

What are the important new varieties of carnation? Explain the importance of
pinching operation for producing quality carnation.

(b) FaEEE IR AR g % " IR W 9T HeY S S i |

Explain the connection between anaerobic and aerobic respiration.

(c) et & Ifaw frmw F o ke wel % ool ot gedff @At % we gom fim

Compare the inoculative and augmentative releases of natural enemies for
biological control of pests.

(d) 2w i g faa gomelt ¥ amed R gaam 6t faaem fifg)

Discuss the strength and weakness of public distribution system in the
country.

(e) TAHTE F A FedaRl & TH % e Faw gada B ffy w1 aofq Hif

Describe the procedure of tissue culture for multiplying new cultivars of
gladinlhis.

6. frafefaa wel % I AR -

Answer the following questions : 1272%4=50

() vesfed, dH-89 iR FAfta sEEmet # @ 3 & fay e Jee eh- 87

What are the special schemes for providing food grains to underprivileged,
destitutes and malnourished populations?

(b) & IR VX goal K e Wt % fg e Wit faawor dif

Explain the production technology for commercial cultivation of marigold and
aster flowers.

(c) 3w Tee iR onfie &fd T it Themd amge fio wio ¥ F Tyl &7
Why are the concepts of economic threshold and economic injury levels

important in IPM?

(d) T amme 6 afee #) e AR IR e -raeym Y @ Hl 99Iiad 0 G BRe H
U FHIfT |

Explain the phenomenon of passive absorption and give the factors affecting
the rate of absorption of water.
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7. Fefafea wAt % @ G

Answer the following questions : 12%2x4=50
(@) HE H HUG sudid el N HUEROI-SiER i afs TR R fafE e 8 5 v ok
dfesrgl # aiusa gus % 91§ STy

How does maturity control the post-harvest quality and storage life of fruits?
Give maturity indices for some fruits and vegetables.

(b) ¥RA T WA AR e e H goam Rfd f s i)

Explain the piresenl slalus of food and nutrition security in India.

(c) [ WM H Iufefa, el IR emge e o H fya=mT Hifdm)

Discuss plant disease occurrence, epidemics and IDM.

(d) TSTEH 1 WIEEl % IT6! ihad W e dlel Y9 ) Ty HIfe| TS giegar 6 fems
ot faftm =1 avi fifvm)

Explain the effect of concentration of enzyme on its activity. Give different
methods for regulating the enzymic activity.

8. Tmfafes w Rufml fafey :
Write notes on the following : 12%2x4=50

(@) &faw ¥R Fafw gfdy

Horizontal and vertical resistance

(b) AR o o -

Ionizing radiations and insect control

(c) FIEA-FAS T IR WEeH Tl
Vascular wilt and xylem wilt
() YT TWEAEVR T AT T ST R

Red flour beetle and Angoumois grain moth

*
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